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QUESTION 1

Hitachi Dynamic Link Manager is being used with a VSP system in a multi-path environment with intense sequential
I/Os. What are two Hitachi recommended loadbalancing algorithms for this environment? (Choose two.)

A. Least I/O

B. Least Block

C. Extended Least I/O

D. Extended Round Robin

Correct Answer: CD

QUESTION 2

You want to configure hosts connected to a VSP using the Host Scan feature of Hitachi Device Manager. Which action
must be performed?

A. Ensure all hosts are related to a host group.

B. Ensure all hosts are related to the same host group.
C. Set the storage WWN for LUN security.

D. Set the host WWN for LUN security.

Correct Answer: A

QUESTION 3

Which two statements regarding the Hitachi Dynamic Link Manager Least I1/O and Least Block algorithms are true?
(Choose two.)

A. The Least I/0O and Least Block algorithms redirect the I/Os to a single path determined by the algorithms.
B. The Least I/O and Least Block algorithms redirect the 1/0Os to a pair of paths determined by the algorithms.

C. The Extended Least I/O and Extended Least Block algorithms distribute sequential I/Os to a set of paths and random
I/Os to another set of paths.

D. The Extended Least I/0 and Extended Least Block algorithms distribute 1/Os to paths depending on whether the 1/0
involves sequential or random access.

Correct Answer: AD

QUESTION 4
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Which feature allows the naming of LDEVs using Hitachi Device Manager CLI?
A. LDEV Naming

B. LDEV Labeling

C. LDEV Tagging

D. LDEV Editing

Correct Answer: B

QUESTION 5

In which Hitachi Device Manager screen is the Allocate Like Volumes feature available?
A. Hosts

B. Allocate Storage

C. Dynamic Provisioning

D. Allocate Volumes to Multiple Hosts

Correct Answer: A

QUESTION 6

What are two benefits of the Hitachi Command Suite? (Choose two.)

A. integration with Hitachi Compute Platform management software

B. integration with Cisco directors management software

C. integration with third-party storage management software as defined in HiFire
D. integration with Hitachi NAS Platforms management software

Correct Answer: AD

QUESTION 7

What is the maximum capacity of a LUSE volume on a VSP storage system?
A.4TB

B.327TB

C.36TB

D.60TB
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Correct Answer: D

QUESTION 8

Before starting provisioning operations in Hitachi Device Manager, what are three requirements? (Choose three)
A. The host must be physically connected to the SAN.

B. The port on the storage system must be configured.

C. Any world-wide node name (WWNN) must be configured for the host.

D. The host must appear in the host view.

E. The switch must be added to Device Manager.

Correct Answer. ABD

QUESTION 9

You want to backup the HIRDB database of your newly installed Hitachi Command Suite (HCS) server. Which two
methods are available to you? (Choose two.)

A. Use the hcmdsbackups command specifying a directory for the backup data;
B. Open the Utility tab in the HCS GUI and select the Backup Database function.
C. Run the HIRDB backup wizard and select the backup format and destination.
D. Use hcmdsdbtrans /export command to export the database in CSV format.

Correct Answer: AD

QUESTION 10

You want to restart the Hitachi Command Suite (HCS) services running on a Windows server. Which tool would you
use?

A. Windows Services panel
B. HCS GUI

C. CLI command "hcmdssrv"
D. Windows Task Manager

Correct Answer: C

QUESTION 11
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Which two Hitachi Dynamic Link Manager (HDLM) features address challenges associated with high availability and
single point failures? (Choose two.)

A. HDLM provides failover protection by switching to a good path if a path fails.

B. HDLM monitors the paths of multiple hosts and redirects 1/0s to the least busy path if a path fails.

C. HDLM can automatically set a failed path back online if it becomes available.

D. HDLM provides error correction algorithms that help recover data transmission errors caused by path failures.

Correct Answer: AC

QUESTION 12

A customer is managing a multi-pathing environment using Hitachi Global Link Manager (HGLM) and wants to add
another host. Which user privilege is required within HGLM?

A. Admin

B. Modify

C. View

D. Supervisor

Correct Answer: A

QUESTION 13

Using the Element Manager feature of Hitachi Device Manager, which term describes the storage system port-to-port
connections shared by external LUNs on a VSP?

A. Port Group ID
B. Path Group ID
C. Path Pool ID
D. Port Pool ID

Correct Answer: B

QUESTION 14

Which Hitachi Command Suite product would be installed on a server different from the one where the Hitachi Device
Manager software resides?

A. Tiered Storage Manager

B. Tuning Manager
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C. Partition Manager

D. Replication Manager

Correct Answer: B

QUESTION 15

You want to use the Hitachi Device Manager (HDvM) search facility to locate resources based on user-defined criteria.
Which two actions would be performed as a result of a search? (Choose two.)

A. Search results can be e-mailed by HDvM.

B. Search results can be exported as CSV files.
C. Searches can be saved.

D. Search results can be exported as HTML files.

Correct Answer: BC
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